Finding Distance of a Point
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Example 1

sur :=eval ( Tore )

A:=rndBox ([ -7 7], [ -4 4],[3])

2 2 2 2 2
tmp:=|\x +vy +z +2 -1
<

2 2 2 2
f(x,y,z)=tmp~ —4.2 [X +vy ]
3,A,[00A3],8,N]

[a 5 No s A]::B

B:=Dist

a=[-1.7849 1.8973 0.7963]
A=[-2.9319 3.1165 3]

rows (s)=20 6=2.7674

Example 2

sur:=eval (fcos)

A:=rndBox ([ -8 8],[ -8 8],[5])

2 2

x~ |y
f(x z)=2- —t+— |-z
3f(x, vy, z) cos[7+14
B::Dist[3,A,[00A3 ,e,2-N]

[2 6 No s A]:=B
a=[-2.2126 0.6208 1.4944]
A=[-5.1582 1.034 5]

rows (s)=14 6=4.5974

Example 3

sur :=eval (par)

A:=rndBox ([ -4 4],[ -4 4],[6])
X2 y
St 77
2”1

N

f(x,y,z):=

B::Dist[3,A,[0 0 A3], e,N]

[a 5 No SA]::B

a=[0.5176 —2.3867 5.7631]
A=[0.4563 —1.256 6]

rows(s)=8 6=1.1568
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Example 4

sur :=eval (fexp)

A:=rndBox ([ -2 2], [ -2 2],[6])

[a 5 No s A]::B

a=[-0.4435 —0.3315 5.8205]
A=[-0.9068 —1.7166 6|

rows(s)=14 06=1.4716

time (0)—-t_=75.038 s

X2+(2 )2
<f(x,y, Z)::S-exp —Ty —
B::Dist[3,A,[00A3 ,e,N]
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[E]l—2D Examples

Example 1
A:=rndBox ([ -6 6], [ —4 4])

f(x,y]::xz-y—sin(x+y)
B:=Dist(2,4,[00], ¢, N)
[a 5 No s A]::B

a=[0.6915 —1.4731]
A=[0.4154 —1.4963]

rows (s5) =43 6=0.2771
Example 2

A:=rndBox ([ -4 2], [ -1 3])

f(x, y)::1n[|1+(1+x)3—3-y-(1+x)+y3”

B:=Dist(2,4,[01.5], ¢, N)
[a 6 No s A]:=B

a=[0.5096 1.4898]
A=[1.9313 2.7689]

rows (s5)=10 6=1.9123




Example 3

A:=rndBox ([ -2 2],[-1.5 1.5]) —— T

a0 :=0.842 [y il
f(x,y):= 21 -2 1L i
) [ 2 2 2] 2
x +y —ao —|—(2-X-(y—ozo)) 05l i
B:=Dist(2,4,[00], &, N) '
[2 6 No s A]:=B > Or 7
-0,5F n
a=[-0.9362 0.5725]
1k .
A=[-0.8248 0.6076]
15} -
rOWS(S)=46 6=0.1168 1 1 1 1 1 1 1 1 1
2 1,5 1 0,5 0 0,5 1 1,5 2
X
Example 4
A:=rndBox ([ -4 —4],[ -2 2]) 8 F 3
OlO::eval(81-4/6-n)
Lx%iy?r 2
1£(x, y)=e ° =2 10,005 o |
B:=Dist(2,4,[00], ¢, N)
[2 0 No s A]:==B >0 ]
a=[-2.5981 —2.5114]
-4 | -
A=[-4 -0.6667]
rows(s)=11 6=2.317 .
8 4 0 4 8
X
Example 5
A:=rndBox ([ —-12 12], [ —4 10]) 12 1 . . . T . T

2 3
f(x,y)=2-x"4+4-Xx-y4+4-y —26-y—22
B:=Dist(2,4,[00], ¢, N) sl -
[2 6 No s A]:=B

a=[8.1439 —2.8434]
A=[8.0414 —3.3442]

rows (s) =45 5=0.5112




Example 6
A::rndBox([—l 1],[-1 1])

2
f(x,y)::[x2+y2] —[x3—3-x-y2]
::Dist[Z,A,[Al o], £, 3-N]

<

[a 5 No s A]::B

a=[-0.4991 0.4983]
A=[-0.7928 0.3505]

rows (s)=12 5=0.3288

Example 7

A:=rndBox ([ -4 4], [ -4 4])

6 6 6
f(x,y)=x +y -2

B::Dist[Z,A,[Alo], e,N]

[a 5 No s A]::B

a=[1.2502 —1.9796]
A=[1.3792 —3.2632]

rows(s)=35 5=1.2901

Example 8

A::rndBox([—l 6],[ -2 2])

A

B::Dist[Z,A, [Al o], €, 3-N]

[a & No s A]::B

a=[5.4025 0.2909]
A=[5.8321 0.4757]

rows(s)=6 0=0.4677

2
f(X,Y)::(x—Z) +5'y2+X2-y10—3-sin(X-y)—9




Example 9

A:=rndBox ([ -1 1],[ -1 1])

4 2 3
f(x,y)=x —x".y+4y
B::Dist[2,A,[A1 o], e,N]

[a 5 No s A]::B

a=[0.7762 —0.9853]
A=[0.8347 —0.9455]

rows (s) =48 5=0.0708

Example 10

A:=rndBox ([ -1.5 1.5],[-1.5 1.5])

g(a,b)=(a —|—0.125-sin(10-b)]4

4
1f(x,v)=9g(x,v)+9g(v, x)—0.4

B::Dist[2,A,[A1 o], £, 3-N]

[2 6 No s A]:=B
a=[0.4088 0.4732]
A=[0.3374 0.7251]

rows (s5) =98 5=0.2618

time (0)—t_ =298.431s




